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Differentials

Enter an expression, and say that
have some constants

Total differential

Partial derivatives

or

Notice that

but

Some examples

Clear(da)=1

da:=0

dSymbol :="d"

da:=0

—y~[1—x2~y-a]-dx—|—[1—|—2-x2-y-a]~dy-x

dz::d(z):
a-x2
[1 2 ] 142 x2 a
d(dz, dx)= - L% 2'y'a d(dz, dy)=—" y
a-X

[1 2 ] 1+2 x2 y-a

. _X . .a - . .
Az x)=== T e vl=—"

a-XxX

because d(d(dz, dy), dy)=0

2
d[dz, dy ]:0

2
d[dz, y ]:2-dx

dSymbol:="a."
r.cos (8)]] cos(6)-9_—r-sin(6)-9,
r-sin(0)|| sin(6)-9_+r-cos(6)-9,
dSymbol :="a" da:=0
d[a P X]:eb X-a-(x-ab+b-ax)
d[a-eSin(X)]zeSin(x)-cos(x)-a-ax

xc((l+2-ln(x-y))-6x-y+x-ay)
Yy

d[x2-ln(x-y]]=
dl:=d(a-b)=b-.da+a-db
d2::d(dl):aa.(ab+b.aa+ab)+a.ab2
d3::d(d2)=2-[(6b—|—b-aa)-6a2—|—(6a—|—6b-a)-ab2]+8b-6a-(6b+aa)
dl::d(a-b):a-ab

2
d2:=d(dl)=a-ob

d3::d[d2):2-ab3-a



Chain rule c::d[a_f(g(x))]=a.§_xf(g(x)).6x

f(x):=1n(x) g (x):=cos (x) c=-—a-tan(x)-9x

d(a-ln(cos (X))]: _%)(';‘)'ax

Total differential

d f
|

Ix (t, x, x")-ox"

d(f(t, x, X')):(;j—tf(t, X, x')-at—|—§—xf(t, x, x')-0x +
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